
In	
  de	
  stand	
  met	
  deelfactor	
  0.1	
  is	
  T1	
  hoogohmig	
  en	
  heb	
  je	
  een	
  spanningsdeler	
  
bestaande	
  uit	
  enkel	
  R9	
  en	
  R5.	
  De	
  deelfactor	
  is	
  dan:	
  
	
  

𝑘!.! =
𝑅9

𝑅9+ 𝑅5 =
100

100+ 900 = 0.1	
  
	
  
In	
  de	
  stand	
  0.01	
  is	
  T1	
  laagohmig	
  (zo	
  laagohmig	
  dat	
  zijn	
  weerstand	
  kan	
  worden	
  
verwaarloosd	
  in	
  verhouding	
  tot	
  R10).	
  Dan	
  heb	
  je	
  een	
  spanningsdeler	
  bestaande	
  
uit	
  de	
  parallelschakeling	
  van	
  R9	
  en	
  R10,	
  en	
  R5.	
  Deelfactor:	
  
	
  

𝑘!.!" =
(𝑅9 ∥ 𝑅10)

𝑅9 ∥ 𝑅10 + 𝑅5 =
100

11
100

11+ 900
= 0.01	
  

	
  


